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у7лу5ле==о9

Пол8кл8=8к4
К458=ет (отделе=8е) <ед8F8=Eко9 

пDоD8л4кт8к8
Кл8=8ко-д847=оEт8GеEкое отделе=8е ВD4G-теD4пе6т

ПD8е< (оE<отD) 
6D4Gо<-теD4пе6то<,
6 т.G. оE<отD ко6=OE 
покDо6о6, Eл878EтOE 
7у5 8 Dото6о9 полоEт8, 
п4лPп4F8N 
I8то68д=о9 6еле7O, 
л8<D4т8GеEк8E у7ло6.

УEт4=о6ле=8е 7DуппO 
7доDо6PO, поEт4=о6к4 
=4 д8Eп4=EеD=ое 
=45лNде=8е.

1. ЭКГ (пD8 пеD6о< поEеIе=88, д4лее E 35 лет 1 D47 6 7од)
2. ОE<отD 4куHеDко9 (DелPдHеDо<) (6е=I8=O 1 D47 6 7од)
3. ФлNоDо7D4D8O ле7к8E 1 D47 6 2 7од4
4. М4<<о7D4D8O 1 D47 6 2 7од4 (6е=I8=O от 40 до 75 лет)
5. О5I89 4=4л87 кDо68 1 D47 6 7од (л8F4 40 лет 8 Eт4DHе)
6. �DоEт4тEпеF8D8GеEк89 4=т87е= (�!�) 6 кDо68 (<у6G8=O 6 

6о7D4Eте 45, 50, 55, 60 8 64 лет)
7. М47ок E по6еDE=оEт8 Hе9к8 <4тк8 8 FеD68к4лP=о7о к4=4л4 

(6е=I8=O 18-64 лет 1 D47 6 3 7од4)
8. ИEEледо64=8е к4л4 =4  EкDOтуN кDо6P (л8F4 40-64 лет 1 D47 6 2 

7од4 , 65-75 лет 1 D47 6 7од)
9. ЭГД! (1 D47 6 6о7D4Eте 45 лет)

1. �=кет8Dо64=8е 1 D47 6 7од
2. �=тDопо<етD8O 1 D47 6 7од
3. И7<еDе=8е �Д 1 D47 6 7од
4. ОпDеделе=8е уDо6=O о5Iе7о 

EолеEтеD8=4 8 7лNко7O кDо68 
=4тоI4к 1 D47 6 7од

5. ОFе=к4 EеDдеG=о-EоEуд8Eто7о 
D8Eк4 1 D47 6 7од

6. И7<еDе=8е 6=утD87л47=о7о 
д46ле=8O (пD8 пеD6о< поEеIе=88 
8 д4лее E 40 лет 1 D47 6 7од)

7. КD4ткое пDоD8л4кт8GеEкое 
ко=EулPт8Dо64=8е

1. !4туD4F8O кDо68 к8EлоDодо< 6 
покое

2. ТеEт E 6-<8=ут=о9 EодP5о9 

1. �Dо6еде=8е< Eп8Dо<етD88
2.  е=т7е=о7D4D8O оD74=о6 7Dуд=о9 клетк8
3. О5I89 (кл8=8GеEк89) 4=4л87 кDо68 (D476еD=утO9), E опDеделе=8е< 

ле9коF8т4D=о9 DоD<улO
4. �8оE8<8GеEк89 4=4л87 кDо68 (EолеEтеD8=, л8попDоте8=O =87ко9 

плот=оEт8, !-Dе4кт86=O9 5елок, �!Т, �ЛТ, кDе4т8=8=, ЛДГ) 
5. ОпDеделе=8е ко=Fе=тD4F88 Д-д8<еD4 6 кDо68 по пок474=8O<



Пол8кл8=8к4
Кл8=8ко-д847=оEт8GеEкое 

отделе=8е
К458=ет (отделе=8е) <ед8F8=Eко9 пDоD8л4кт8к8 ВD4G-теD4пе6т

ПD8е< (оE<отD) 6D4Gо<-

теD4пе6то< уG4Eтко6O< 
(6D4Gо< о5Iе9 пD4кт8к8), 
по Dе7улPт4т4< II  Qт4п4 
д8Eп4=EеD874F88.

УтоG=е=8е 7DуппO 
7доDо6PO, поEт4=о6к4 =4 
д8Eп4=EеD=ое 
=45лNде=8е.

Допол=8телP=Oе 8EEледо64=8O 8 
ко=EулPт4F88 EпеF84л8Eто6 по 8то74< 

пD8е<4 6D4Gо<-теD4пе6то< �D8е< 6D4Gо< (DелPдHеDо<) КМ� 
(ОМ�) , пDо6еде=8е у7лу5ле==о7о 

пDоD8л4кт8GеEко7о 
ко=EулPт8Dо64=8O

1. ДуплекE=ое Eк4=8Dо64=8е 6е= 
=86=8E ко=еG=оEте9

2. Ко<пPNтеD=4O то<о7D4D8O оD74=о6 
7Dуд=о9 клетк8

3. ЭEок4Dд8о7D4D8O
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